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 1. .

 1.
1929 . . ( .):

4,0
16,2
7,0
2,6
1,1
2,8
7,9
77,2
1,4
0,2

 8,5

1.
.

2. ?
3. ?

, .)

1. , , 

):

XnGICY ,

Y = 77,2 + 16,2 + 8,5 + 1,1 = 103 .

), 
),  ( )  ( ). ,

 = :
 = Y – ,

 = 103 – 7,9 = 95,1 .;
 =  – ;

 = 95,1 – 7,0 = 88,1 .
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 =  –  – 
 –  +

;
 = 88,1 – 0,2 – 2,8 – 1,4 + 4,0 = 87,7 .;

 =  – 
 = 87,7 – 2,6 = 85,1 .

2.
-

:
Sp = 85,1 – 77,2 = 7,9 .

3. 
,  1929 .  8,3 .

 (16,2) –  (7,9)).
-

, -
, . 

, ,  = , -
, 

:
 =  – ;

 = 103 – 7,9 = 95,1 .;
 =  –  – 

 –  – 
 + 

 = 95,1 – 7,0 – 0,2 – 2,8 – 1,4 + 4,0 = 87,7 .

 2. :
–  ( ) = 2300;
–  (I) = 700;
–  (G) = 800;
–  (TR) = 100;
–  (N) = 100;
–  ( ) = 800.

,  = .

:
) ;
) ;
) 

, -
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, ,  80% 
.

1. :
Sp = (Y + TR + N – T) – C;

Y = C + I + G;
Y = 2300 + 700 + 800 = 3800;

Sp = (3800 + 100 + 100 – 800) – 2300 = 900.
2. :

Sg = T – TR – N – G;
Sg = 800 – 100 – 100 – 800 = –200.

3. 

BD = –Sg = 200.
 80%, .

 = 0,8 × BD;
 = 0,8 × 200 = 160.

-
:

 = 200 – 160 = 40.

 3. ,  3
.  ( )

 2 .
, 

 (2010 . – ).

2010 2010 2012 2012

10 10 15 8
27 6 24 7

655 3 425 5

–  ( ) -
:

.7,0
2227
1569

36556271010
34256241015

1
00

1
0

n

i iQiP

n

i iQt
iP

PL



8

–  ( ) :

.68,0
3544
2413

5655727810
5425724815

1
0

1
n

i iQiP

n

i
t
iQt

iP
pP

t

, 
. :

.69,068,07,0pLF PPP

1. :
) . . ; ) . ;
) . ; ) . .
) . ;

2. 
:

) ;
) ;
) ;
) ;
) .

3. 
 1500 . ., -

 600 . ., 
 1200 . ., -

 1000 . .,  300 . .

200  30 . . , -
 400 . . 

:
) 1400 . .; ) 2700 . .;
) 1700 . .; ) 4600 . .;
) 2400 . .; ) 5000 . .

4. :
) 

;
) , 

;
) -

;
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) -
;

) 
.

5. , 
,  300 ., -

,  1200
.  1400 ., -

 1500 . -
:
) 600 .; ) 1400 .;
) 900 .; ) 1500 .
) 1200 .;

6. -
. :

) ;
) ;
) ;
) ;
) .

7. :
) , ;
) , ;
) , ;
) , ;
) , ,

.
8. :
) ;
) ;
) ;
) ;
) , .

9. :
) ; ) ;
) ; ) ;
) .

10. :
) ; ) ;
) ; ) ;
) -
.
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11. -
:

) ; ) ;
) ; ) ;
) -
.

12. -
:

) , ;
) -

, ;
) ;
) ;
) .

13. :
) ;
) ;
) ;
) ;
) .

14. -
 130 ., -

 – 85 .,  –
5 .,  – 20 .,  –
150 ., :

) 390 .; ) 240 .;
) 385 .; ) 235 .;
) 370 .; ) 215 .

15. -
 700 ., -

 – 12 .,  – 200 
.,  – 30 ., 

– 4 ., :
) 946 .; ) 242 .;
) 900 .; ) 200 .;
) 246 .; ) 0 .

16. , -
 63 . .,  –

25 . .,  – 45 . ., 
 – 10 . ., -

 7 . . :
) 88 . .; ) 133 . .;
) 95 . .; ) 140 . .;
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) 105 . .; ) 150 . .
17.  750

.,  – 550 ., -
 – 90 ., -

 – 130 . :
) 460 .; ) 70 .;
) 330 .; ) –20 .
) 110 .;

18.  5200
.;  (–30) .; 

, , 
300 .; , 

 – 140 ., 
– 20 . :

) 4990 .; ) 5070 .;
) 5040 .; ) 5350 .;
) 5050 .; ) 5360 .

19.  850 ., 
 – 40 ., 

 15 .,  - 500 
.,  – 32 .; 
 – 30 ., 

– 10 .,  – 27 ., -
 – 90 .,  – 25 ., 

 – 35 ., 
 – 20 . :

) 93 .; ) 56 .;
) 78 .; ) 41 .;
) 63 .; ) 26 .

20. 
 450 .,  – 70 .,

 – 95 ., -
 – 31 .,  – 16 .,

 – 47 .,  – 26 .,  –
12 ., :

) 691 .; ) 613 .;
) 660 .; ) 528 .
) 644 .;

21. ,  2009 .  2008 . -
 400 .  480 

.,  125  150%. , -
:

) ; ) ;
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) ; ) .
22. -

 – , .  2009  2010 . -
:  – 3 .  5 .,  –

12 .  8 .,  – 5 .  7 . -
: 4 , 2 -

 1 .  2010 .,  2009 .:
) ; ) ;
) ; ) .

23.  2005 .  400 . 
 2010 .  2 , 

 20%.  2010 . :
) 240 .; ) 960 .;
) 800 .; ) 1000 .;
) 880 .; ) 1600 .

24. -
 – , .  2010 . 

 4, 9  6 .,  2
, 4  8 .  2011 . 

 5, 7  10 .,  3 , 7 -
 11 .  2010 . – , :
1)  2011 . :
) 1,19; ) 1,28; ) 1,89;
) 1,23; ) 1,47.

2)  2011 . :
) 1,19; ) 1,28; ) 1,89.
) 1,23; ) 1,47.

25. , 
 – 

2009 .:

,
. , .

,
. , .

2009 3 100 10 50
2010 3 120 12 70
2011 4 120 14 70

1)  2010 . :
) 113%; ) 133%; ) 150%.
) 122%; ) 138%.

2)  2011 . :
) 113%; ) 133%; ) 150%.
) 122%; ) 138%.
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1. , 
: , ,

 « ».
 1 -

 200 . , 
.  1 -

,  300 . 
. -

 1 -
,  1200 . . -

 200  (  6 ) « -
»,  1,50 . . 

.
: 1) -

; 2) ; 3) 
.

2. -
:

84
25

157
124
85
28
51
63
73
26
47

365
52
43
31

532
23
9
35
27
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, , , , , , , -
.

3. :

150
133
52
33
6
7
8

, 9
10
11
12
13

, 14
15
16
17
27
9
7

, , , .
4. , -

 – , , :

2011 . 2012 .
P, . Q, . P, . Q, .

2 30 4 25
8 12 9 11
70 5 65 7

 2011 . – , : 1) -
 2011 .; 2)  2012 .; 3)

, 
2012 .; 4)  2012 ., 

; 5)  2012 ., 
.

5. , -
 – , , .
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2011 . 2012 .
P,

.
Q, . P, . Q, .

4 25 6 20
20 8 15 14
5 15 7 12

 2012 . – , : 1) -
 2011 .; 2)  2012 .; 3)

,  2011 .; 4) 
2012 ., .

6.  – .

2011 . 2012 .
P, . Q, . P, . Q, .

9 ? 6 1000
4 1200 10 1500

: 1)  2012 ., 
2011 .; 2)  2011 . , ,

 2012 .  25% (  2011 .).

 1

1. .

24
16
12
13
17
11

160
27

, 10
55
20
46

, 24
25

–14

, , , , .
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2. .

240
, 8

13
18
29
30
14

, 17
280
55
12
27
15
36
20
25
64

,  ,  ,  ,  ,  
.

3. .

315
, 14

13
39
41

, 19
15
20
30
15
72
28
27
37
42
24

, , , , -
.
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4.  – ,
.

2008 . 2009 .
P Q P Q
3 20 4 30
5 5 3 8
4 30 6 20

: 1) ,
 2009 .; 2) , -

; 3)  ( ) 
.

5.  – , 
.

2007 . 2008 . 2009 .
P Q P Q P Q
3 5 5 4 6 5
2 10 4 15 4 20
8 5 6 10 7 12

 2007 . – , : 1) -
; 2)  2008  2009 .; 3) 

 ( ); 4) -
 2  ( ).

6.  – .

2011 . 2012 .
P, . Q, . P, . Q, .

4 ? 8 10
5 8 4 16

: 1)  2012 ;  2011
; 2)  2011 . , , 

 2012 .  20% (  2011 .).
7.  – , ,

. , , -
,  ( ) ,

 2010 .
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2009 . 2010 . 2011 . 2012 .
P Q P Q P Q P Q
2 40 2 45 2 50 3 55
4 25 4 30 5 32 6 35
5 14 6 15 7 15 8 20

:

2009 . 2010 . 2011 . 2012 .

 2
1. -

.

232
, 7

15
8

26
29
11

, 16
260
50
9

24
13
34
17
24
58

,  ,  ,  ,  ,  
.

2. .



19

17
13
11
24
55

–14
12
15

, 10
160
25
16

, 24
20
46

, , , , , , 
.

3. .

34
36
13
24
22
27
30
59
25
20

260
15
28

, 14
, 22

, , , , -
.

4.  – ,
.
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2000 . 2007 .
P Q P Q
2 50 3 45
7 20 8 15

25 10 20 15

, , : 1) -
 2000  2007 .; 2) , 

2000 . – . 
?

5.  – ,
.

2008 . 2009 .
P Q P Q
5 15 7 12
4 25 6 20

20 8 15 14

 2008  2009 .;
,  2008 ., -

 2009 . , 
?

6.  – .

2011 . 2012 .
P, . Q, . P, . Q, .

4 ? 8 9
5 8 4 12

: 1)  2012 .; 
2011 .; 2)  2011 . , ,

 2012 .  20% (  2011 .).
7.  – , ,

. , , -
,  ( ) ,

 2010 .

2009 . 2010 . 2011 . 2012 .
P Q P Q P Q P Q
2 40 2 45 3 50 4 55
3 25 4 30 4 30 5 30
5 15 6 15 5 20 5 18

:
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2009 . 2010 . 2011 . 2012 .

 3
1. -

.

29
77
24

370
30

550
52
66
35
72

170
44

125
26
16
84
12
83
50
27

, , , , , , , -
.

2. .

560
450
28
21
35

140
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433
, 12

27
36
25

, 23
33
57
82
29
22

, , , , , -
.

3. .

88
, 20

66
33
17
38
15

620
65
30
24

130
31
50
22
30

, , , , , , -
.

4.  – -
, .

2008 . 2009 .
P Q P Q
4 30 2 40
6 20 9 12
5 15 7 17
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, : 1) -
,  2009 .; 2) -

, ; 3) -
 ( ) .

5.  – ,
.

2010 . 2011 . 2012 .
P Q P Q P Q
2 50 2 40 3 30
4 5 5 8 5 7
5 9 7 11 6 12

, , : 1) -
,  2010 .;

2)  2011  2012 ., 3)  (
)  2  ( ).

6.  – .

2011 . 2012 .
P, . Q, . P, . Q, .

4 ? 2 7
5 20 7 28

: 1)  2012 ., 
2011 .; 2)  2011 . , ,

 2012 .  20% (  2011 .).
7.  – , ,

. , , -
,  ( ) ,

 2010 .

2009 . 2010 . 2011 . 2012 .
P Q P Q P Q P Q
2 40 2 45 3 50 4 55
4 25 4 30 5 34 6 35
5 15 6 15 7 20 8 25

.

2009 . 2010 . 2011 . 2012 .
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 4
1. -

.

15
7
42
17
11

, 15
255
61
16
32
21
30
20
36

, 9
224
87

, , , , , , , -
.

2. :

150
15
11

, 17
25
40
13
22
14
20
35
13
11

, 12
-4

, , , , , , .
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3. .

20
22
23
25
27
28
30
33
35
39
45
60
70

600
9

, , , , 
.

4.  – ,
.

2011 . 2012 .
P Q P Q
5 15 7 10
3 25 4 30

20 9 15 20

, : 1) -
 2011  2012 .; 2) ,
 2012 .,  2011 . 

 ( )?
5.  – ,

.

2010 . 2011 .
P Q P Q
5 20 4 30

20 5 25 4
40 7 38 10

: 1) ,
 2011 .; 2) , -



26

; 3)  ( ) 
.

6.  – .

2011 . 2012 .
P, . Q, . P, . Q, .

3 ? 5 20
4 8 2 10

: 1)  2012 .; 
2011 .; 2)  2011 . , ,

 2012 .  25% (  2011 .).
7.  – , ,

. , -
,  ( ) ,

 2010 .

2009 . 2010 . 2011 . 2012 .
P Q P Q P Q P Q
2 50 2 40 3 30 4 30
4 5 5 8 5 10 6 15
6 10 7 15 6 20 7 20

.

2009 . 2010 . 2011 . 2012 .

 5
1. -

.

425
292

, 25
41
8
66
49
43

, 18
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126
22
38
23
20
28
99
58

, , , , , , , -
.

2. .

185
12
79
77
62
14
15
25
27
11
13
14
17
21
30
44
14

266
36

, , , , -
.

3. .

32
35
33

133
440
470
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135
27

, 17
23
80
58
27

, 24
25
30

580

,  ,  ,  ,  ,  ,  ,  
.

4.  – , -
.

2010 . 2011 .
P Q P Q
3 20 3 25

35 6 40 5
14 10 15 8

: 1) ,
 2011 .; 2) , -

; 3)  ( ) 
.

5.  – -
, .

2011 . 2012 .
P Q P Q
2 30 4 20

70 4 60 7
5 20 5 22

 2011 
2012 ., ,  2012 ., 

 2011 . 
?

6.  – .
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2011 . 2012 .
P, . Q, . P, . Q, .

3 ? 6 15
4 10 3 20

: 1)  2012 .; 
2011 .; 2)  2011 . , ,

 2012 .  25% (  2011 .).
7.  – , ,

. , -
,  ( ) ,

 2010 .

2009 . 2010 . 2011 . 2012 .
P Q P Q P Q P Q
2 50 2 55 3 50 4 55
3 15 5 17 5 20 6 25
4 10 4 12 5 15 5 18

.

2009 . 2010 . 2011 . 2012 .

 2. :
, , 

 1.  100 .,
24 . –  16 , , -

 ( , -
.); 30 . 

; 4  600 . . – ; 1 . – ,
.

, :
) ;
) .
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1.  = -
 –  (  16 ,

) – 
 = 100 . – 24 . – 30

. = 46 .

2.  = %100

 = %10%100
46

6,4 .

-
. 

, . 
.

 2. -
 6%,  – 10%:

1. -
, -

 2.
2. 

600 ., , 
?

1. 

:

*)(
*

* UU
Y

YY
,

 Y – ;
       Y* – ;

 – -
;

      U – ;
      U* – 

08,004,02)06,01,0(2
*

*
Y

YY
  –8%.
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, 
 8%.

2. , 
 Y* , .

08,0
*

*600
Y

Y
;

600 – Y* = –0,08 Y*  600 = –0,08Y*+ Y*  600 = 0,92Y*  Y* = 652,2

, , -
:

Y – Y* = 600 – 652,2 = –52,2 ( .)
 3. , 

 5% . -
 210%,  200%. -

?

-
:

e

ei
r

1
,

 i – ;
       r – ;
        – ,

033,0
21
21,2r

3,3% .

, .

1. 
:

) ; ) ; ) ?
) ; ) ;

2. :
) ;
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) ;
) ;
) ;
) ?

3. :
) ;
) ;
) ;
) ;
) ?

4. :
) ;
) ;
) ;
) ;
) ?

5. 
:

) . ; ) . ; ) . .
) . ; ) . ;

6.  « -
» :

) . ; ) . ;
) . ; ) . .
) . ;

7. , :
) ;
) ;
) ;
) ;
) .

8. :
) , ;
) , ;
) , ;
) , ;
) .

9. :
) , -

;
) , -

;
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) , -
;

) , 
;

) , , 
.

10. :
) , ;
) , ;
) , ;
) ;
) , .

11. 
100 ,  – 75

,  – 60 , -
 – 11%, :

) 49 ; ) 54,5 ;
) 51,75 ; ) 68,4 .
) 53,4 ;

12.  – 12 , -
 8%, :

) 84 ; ) 138 ;
) 96 ; ) 150 .
) 120 ;

13.  – 95 ,
 – 85 , -
 – 25 , -

 – 9%, :
) 5,4 ; ) 8,55 ;
) 6,3 ; ) .
) 7,65 ;

14. 
 100 ,  63 ,

 – 10%, 
:

) 30 ; ) 37 ;
) 30,7 ; ) .
) 36,3 ;

15. :
) , 

;
) , ;
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) , 
;

) , 
;

) , .
16. :
) , 

;
) , 

;
) , 

;
) , -

;
) .

17. , :
) ;
) ;
) ;
) 

;
) .

18.  – 5%, -
 – 4 ,  – 3

,  – 2,8 , 
:

) 7%; ) 9%; ) .
) 7,8%; ) 9,8%;

19.  –
80 ,  – 6 ,

 – 62 , 
 2%, 

:
) 5,5%; ) 6,8%; ) 8,8%.
) 6%; ) 7,7%;

20.  – 100 
,  – 85 -

, 
16  – 28 ,  – 65 , 

 6%, 
:

) 2,2%; ) 4,8%; ) 8%.
) 3,7%; ) 6,4%;
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21.  – 140 
,  – 120 -

,  – 82,8 , -
 – 7,2 , 

 5%, :
) 0,2 ; ) 2,7 ;
) 0,8 ; ) 3,1 .
) 1,2 ;

22. 
175 ,  – 6%, -

 – 9%, -
 – 3 ,  –

4,5 , :
) 2%; ) 4%; ) 6%.
) 3%; ) 4,5%;

23. 
110 ,  – 95

,  – 73,6 , -
 – 8%, -

 – 3,2 ,  –
2 , :

) 1,5%; ) 2,1%; ) 3%.
) 1,7%; ) 2,8%;

24.  35 ., -
 – 31 .,  – 2,5, 

:
) 1,6%; ) 3,4%; ) 5,1%.
) 2%; ) 4,6%;

25. -
 300 , -

 – 250 ,  – 7 -
,  – 8 , -

 – 10 ,  – 175 . -
 1770 .,  –

2000 ., :
) 2; ) 2,5; ) 3,2.
) 2,3; ) 2,8;

26.  78 
 70%,  23% 

, ,  2,5,
 – 6%,  –

4200 ., :
) 4500 .; ) 3885 .;
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) 4345 .; ) 2655 .
) 4145 .;

27. :

2001 400
2002 440
2003 462
2004 462

:
)  2004 . 

2002  2003 .;
)  2003 . 

2002 .;
)  2002 . 

2003  2004 .;
) 

.
28. , 

301  2003 .  311  2004 . 1997 . . -
, :

)  2004 . , , -
 4%-  1997 .  ( -

);
)  2004 .  4%-
,  311% , ;
)  2004 .  4%-
,  211% ,  1997 ;
) .

29. ,  150 -
, 

15% , , -
,  159. 

:
) 6%; ) 9%; ) 21,9%?
) 8,1%; ) 21%;

30. :

1- 9% 4%
2- 4% 9%
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:
) ;
)  5%;
)  5%;
)  10%?

1.  2011 .  2880 . -
 2012 .  3000 .,  –

1,25. .
2.  2012 . . 

 2012 .  2850 ., 
20%,  2011 .  5%.

 2011 . ( ) .
3.

 2012 .  1690 ., -
 2011 .  4%. ,  2011

.  1495 ., 
– 1,15.  2012 .

4.
80 , :  – 4 ;

 – 6 ;  – 2,5 ;  – 0,5 ;
 – 0,7 ; -

 – 0,8 . 
10 , : 5% ;
0,2 , ;
0,1 . , 3 

. :
1) ;
2) ;
3) .
5.  7,5%, 

 – 1665 . -
 – 5%. , 

 3.
6.  6,5%.

 – 5%, 
– 2.  2550 . -

 (%) , -
 ( .).

7.  100 ., -
 – 97 .,  –
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7%.  6 ., 
 9%. 

.
8. -

:  400 , -
 – 280 ., 

– 176 ,  – 6 , -
 – 8 , -

 – 10 . 
2040 .,  3. -

, ,
.

9. -
:  – 200 , -

 – 160 , 
– 113 ,  – 6,4%,

 – 4 . -
 2500 ., 

 2,4. , 
, 

.
10. :

 200 .;
 113 .; -
 140 .; -

 6 .; -
 1 .;  5 
.; -

 4%;  2500; -

2,6.
:

1) ;
2) .
11. :

220
 16 29,5

1,4
10
6,6

15,3
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  8,7
17,2

 – 
13,1
9,9
2,8
2
4

3,6
2,72

- 1,33

2,55
3676
2,7

:
1) ;
2) -

;
3) .
12. , 

 5% . 
108%,  – 100%. ?

13. -
 7% .  – 120%.

?
14.

 59% 
 6%, ?

15.  2005 . -
 7,48%.  315,5% 

 2008 .  327,4%  2009 . : ) 
 1985 .; ) .

16. ,  2010 .  125%, 
 2011 . – 175% . -

 5500  5950 
. . , -

, , -
 5% . 
, 

 45%?
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17.  1 . . , 
 7,5% , -

 60%. 
70%. ? ?

18.  5 . . 
 59%  50%, -

 55%. -
?

 1
1.  2010 .  3432 .,

 – 1,32,  – 4%. -
 2009 .

2.  800 ., -
 – 740 .  –

8,5%.  10%, -
 3,7%. 

.
3. -

:  200 , -
 – 160 , 

 – 113 ,  –
6,4%,  – 4 . -

 2500 ., 
 2,6. , -

, -
.

4.  2001 .  110%, 
2002 . – 125%. , 

, , -
 55% . -
, -

 15%?
 2

1.
 2010 .  5250 ., 

 2009 .  5%. ,  2009 . -
 4600 .,  – 1,15.

 2010 .
2.  450 ., -

 – 405 .  –
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10%.  20%, -
 9%. 

.
3.  150 
 73,6%, 20% , 
,  2,5, 

 – 6%,  – 4200 . -
.

4. -
 5% .  120%.

?
 3

1.  2010 . . -
 2010 .  3233 ., -

 22%,  2009 . 
 6%.  2009 . ( ) .
2.  300 ., -

 – 240 .  –
14,5%.  15%, -

 4,8%. 
.

3. -
:  400 , -

 – 290 , 
 – 183 . -

 – 6 ,  – 7
,  – 4 -

.  1900 ., 
 2,5. ,

, -
.

4.  110%, -
 – 4%. .

 3. 

 1.

. 
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, .
, -

.

 (
)  AD  AD1 AD2.

.
,

 ( ), 
. -

. -
-

 ( ). -
 AD2 AD1.

 2. , 
 (Y*). , 

, 
. -

:
) ;
) ;
) ;
) .

, 
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LRAS (  Y*) -
 AD.

 SRAS -
, . 

, -
.

 (  AD 
AD ) -

, . -
-

, .

-

SRAS AD . -
 Y , -

. 
) -

, ,  « ».
,  « ».

 3.
:

 AS  Y = 2800, -
 AS  = 1,0,  AD

 Y = 3,5 M/P,  M = 800.
, -

 1,4 (SRAS ), 
 Y = 2500 (LRAS ).

1.  Y -
, -
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, .  AD 
?

2. -
, -

, -
 Y = 2800?

3. -
, 

?

1.  1,4, -

SRAS . -
 AD 

SRAS . 
.

 AD 
=1,4.  Y :

.2000
4,1

8005,3Y

-
,  2500. -

. -
, -

, -
 Y = 2500. 
 AD , 

. 
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 AD, -
 Y  2500:

.12,1,8005,32500
P

, 
, : Y = 2000, P = 1,4. -

, -
 LRAS -

 AD  Y = 2500  = 1,12.
2. 

, 
 AD  AD ,  AD -

LRAS  Y = 2800.

, , -

 LRAS . 

 ( ), -
 AD  Y, 

 2800,  = 1,4:

M ,
4,1

5,32800
/

 = 1120,  =  –  = 1120 – 800 = 320.
, -

 Y = 2800, 
 320.
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3. -
, 

 D  AD  ( -
 AD 

320) 
 LRAS  ( -

, 
2500).

 ( ) -

 (AD ), -
. 

. 
. -

.

 ( ) 
, -

, -
 (Y  =  2500).   –   D

 AD .  D , 
 AD  (  = 1120) 

 Y = 2500:

.568,1,11205,32500
P

1. -
:

)  AD -
;

) 
;
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) 
 AD;

) ?
2. 

:
) -

;
) -

;
) -

;
) .

3. 
, 

:
) 

;
) 

;
) -

;
) -

.
4. :
)  AD;
)  AD;
)  AS;
)  AS.

5. : Y= 2500
– 500P,  2000. 

 1,3, -
, :

) ;
) ;
) ;
) , .

6. 
, , -

, 
:

) ;
) ;
) ;
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) .
7. :
) ;
) , 

;
) , -

;
) -

?
8. :
) , ;
) , ;
) , ;
) , .

9. :
) -

;
) ;
) 

, ;
) -

-
.

10. :
) -

;
) ;
) -

;
) -

.
11. 

?
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12.  AS , 
:

) , ;
) , ;
) ;
) , .

13.  AS  Y = 2000;
 AS –  P = 1,0. -

 AD  Y = 2M/P.  (M) -
 1000. -

 P = 1,25. -
, 

? -
, 

?
14. , -

, -
:

) ;
) ;
) -

;
) -

.
15. -

, 
?
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16. -
,  3000 .

 AD : Y = 3980 – 700P. -
 AD , 

 2860 
. 

:
) Y = 2860, P = 1,6; ) Y = 3000, P = 1,6;
) Y = 2860, P = 1,4; ) Y = 3000, P = 1,4;
) Y = 3000, P = 1,2; ) Y = 3140, P = 1,2.

17. , -
, -

,  10%. -
 AD : Y = 2500 – 250P. -

 2000 . -
, :

) Y = 2050, P = 1,8; ) Y = 2000, P = 2,2;
) Y = 2000, P = 2; ) Y = 1975, P = 2,1;
) Y = 1950, P = 2,2; ) Y = 1950, P = 2?
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1. , 
,  2000 . -

 (SRAS) . 
 AD : Y = 2480 –

200P, -
, : Y = 2560 – 200P.

.
2. , 

,  4000 . 
 AD :  Y = 4510 – 300P, 

-
, :Y = 4390 – 300P. -

-
.

3. , 
,  5000 . 

 AD : Y = 5560 – 400P, 
-

, 
 4%. : 1) 

; 2)
 AD; 3) -

.
4. , 

,  2000 . 
 AD : Y = 2540 – 200P, 

, 
 2,2. -

: 1)  AD; 2) -
; 3) -

.
5.

. -
.  1.

 1400  1200 . 
 600

. : 1) 
AD ; 2) 

; 3) .
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6.
. -

.  1000 .,
 – 2,  – 1. 

 25%. 
10%. : 1)  AD 

;
2) ;
3) .

7.
. -

 (LRAS): Y = 3000 . -
 (SRAS): P = 1,25. 

 (AD): Y = 2000 + 2,5 M/P. -
 100 . : 1) -

; 2) 
.

8.
,  3000 . 

 AD : Y = 3360 – 300P. -
 1,6. -

: 1) 
; 2) -

; 3)  AD, ,

.
9.

. -
 (LRAS): Y = 2000 . 

 (SRAS): P = 1,2. -
 (AD): Y = 1000 + 2M/P. ,

 25%. -
: 1) ; 2) 

; 3) -
, 
, 

 AD.
10. 

. -
 (LRAS): Y = 2200 . -

 (SRAS): P = 1,5. 
AD . -

 2,5. 
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 SRAS : P = 2,  LRAS
: Y = 2000 . : 1) 
; 2)  AD; 3) 

; 4)
 ( .) 

, 
? 

 AD. -
, -

. -
, .

 1
1. , 

,  2000 . -
 (SRAS) . 

 AD  : Y = 2580 –
200P, -

, : Y = 2660 – 200P.

.
2. , 

,  2000 . 
 AD : Y = 2840 – 300P, 

, 
 2,4. -

: 1)  AD; 2) -
; 3) -

.
3.

. -
.  2000 .,

 – 4,  – 5. 
 20%. 

10%. : 1)  AD 
; 2)

; 3) .
4.

. -
 (LRAS): Y = 2200 . 
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 (SRAS): P = 1,2. -
 (AD): Y = 1200 + 2,5M/P. ,

 25%. -
: 1) ; 2) 

; 3) -
, 
, 

 AD?
5.

. -
 (LRAS): Y = 3000 . -

 (SRAS): P = 2.  AD
. 

 5. 
 SRAS : P = 2,5,  LRAS : Y =

2500 . : 1) ; 2)
 AD; 3) -

; 4) 
 ( .) 

, -
? -

 AD. -
, 

. , -
.

 2
1. , 

,  1900 . -
 (SRAS) . 

 AD : Y = 2580 –
200P, -

, : Y = 2660 – 200P.

.
2. , 

,  2000 . 
 AD : Y = 2840 – 300P, 

, 
 2,6. -

: 1)  AD; 2) -
; 3) -

.
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3.
. -

.  2000 .,
 – 4,  – 5. 

 25%. 
10%. : 1)  AD 

; 2)

; 3) .
4.

. -
 (LRAS): Y = 2000 . 

 (SRAS): P = 1,2. -
 (AD): Y = 1200 + 2,5M/P. ,

 25%. -
: 1) ; 2) 

; 3) -
, 
, 

 AD.
5.

. -
 (LRAS): Y = 2800 . -

 (SRAS)  P = 2.  AD
. 

 5. 
 SRAS : P = 2,5,  LRAS : Y =

2500 . : 1) ; 2)
 AD; 3) -

; 4) 
 ( .) -

, -
. 

 AD. 
, 

. , -
.
 3

1. , 
,  2000 . 

 AD : Y = 2500 – 200P, 
-
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, : Y = 2440 – 200P. 
-

.
2. , 

,  3200 . 
 AD : Y = 4200 – 200P, 

-
, 

 5%. : 1) 
; 2)

 AD; 3) 
.

3.
. -

 (LRAS): Y = 2440 . -
 (SRAS): P = 1,25. 

 (AD): Y = 1800 + 2M/P. -
 160 . : 1) -

; 2) 
.

4.
,  2445 . 

 AD : Y = 2880 – 300P. -
 1,6. -

: 1) 
; 2) -

; 3)  AD, ,

.
5.

. -
 (LRAS): Y = 3000 . -

 (SRAS): P = 1,5. 
AD . -

 3. -
 SRAS : P = 2,  LRAS :

Y = 2500 . : 1) ;
2)  AD; 3) 

; 4) 
 ( .) -

, 
. 

 AD. -
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, -
. -

, .
 4

1. , 
,  2200 . 

 AD : Y = 2500 – 200P, 
-

, : Y = 2440 – 200P. 
-

.
2. , 

,  3600 . 
 AD : Y = 4200 – 200P, 

-
, 

 5%. : 1) 
; 2)

 AD; 3) 
.

3.
. -

 (LRAS): Y = 2440 . -
 (SRAS): P = 1,25. 

 (AD): Y = 1800 + 2M/P. -
 80 . : 1) -

; 2) 
.

4.
,  2454 . 

 AD : Y = 2880 – 300P. -
 1,8. -

: 1) 
; 2) -

; 3)  AD, ,

.
5.

. -
 (LRAS): Y = 3300 . -

 (SRAS): P = 1,5. 
AD . -
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 3. -
 SRAS : P = 2,  LRAS :

Y = 2500 . : 1) ; 2)
 AD; 3) -

; 4) 
 ( .) -

, -
. 

 AD. 
, 

. , -
.

 4. 

 1. :
Y = C + I;

C = 100 + 0,8Y;
I = 50.

:
) ;
) ;
)  800, -

?
)  100, -

? 
? 

.

1. 

Y = C + I = 100 + 0,8Y + 50.

:
Y = 750.

2. -
, .  S = I = 50. -

:
 = Y – S = 750 – 50 = 700.
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:
C = 100 + 0,8 × 750 = 100 + 600 = 700.

3.  800, -
 750, -
:

800 – 750 = 50.
4.  50  100, 

:
Y = I × m,

Y – ;
I – ;

 m – .

, -
:

Y = 100 + 0,8Y + 100  Y = 1000.
: Y = 1000 – 750 = 250.

:

.5
50
250

I
Ym

 2. :
Y = C + I + G + Xn;
C = 300 + 0,8Yd;
I = 200 + 0,2Y;
Xn = 100 – 0,04Y;
G = 200;
t = 0,2.
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:
1) ;
2) .

1. 
, , -

 Y:
Y = 300 + 0,8(Y – 0,2Y) + 200 + 0,2Y + 200 + 100 – 0,04Y.

:
Y = 4000 .

2. -
:

 =  (300) +  (200) +
 (200) +  (100) = 800.

 = 4000 / 800 = 5.

3. -
, , :

) , 
;

) , 
;

) , -
;

) , 
.

-
.

, -
 Y0, . 

. , 
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Y1. -
 –  « -

» . 
, -

:  Y1  Y0. -
 « ».

1. . , -
:

) ;
) ;
) ;
) ;
) .

2. 
, :

) ;
) -

;
) , -

;
) , ,  « -

» ;
) .

3. :
) -

;
) -

;
) -

;
) -

?
4. 

, 
, :

) 
;

) ;
) ;
) ;
) .
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5. 
:

) ;
) ;
) ;
) 

.
6. , 

, :
) ;
) ;
) ;
) ;
) .

7. 
, 

, :
) , ;
) , ;
) , ;
) , ;
) , , 

.
8. :
I = 1000 – 30r,  r – . -

 10%,  2%. 
:

) 240; ) 700; ) 970.
) 640; ) 760;

9. 
 = 40 + 0,9Yd  50,

:
) 90; ) 400; ) 900.
) 180; ) 500;

10.  S = –40 + 0,2Yd 
 60, -

:
) 400; 4,0; ) 400; 5,5; ) 1000; 3,5.
) 500; 4,0; ) 500; 5,0;

11. 
9000,  10000, 

:
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) 0,1; ) 10/9;
) 0,9; ) .
) 9,0;

12. : Y=C+I+G+Xn,
C = 400 + 0.9Yd, I = 200 + 0,25Y, Xn = 200 – 0,1Y, G = 200,

t=0,333.

:
) 4000; 4,5; ) 4000; 2,0
) 5000; 4,0; ) 4000; 4,0.

13. -
, , :

) , -
;

) , -
;

) , 
;

) .
14. ,  1500,

 1200, 
400. :

)  300;
)  100 ;
)  300;
)  100, ?

15. : C = Ca + MPC(Y–T).
 0,4; Y = 1000; 

 30%; -
 200. :

) 600; ) 620; ) 520.
) 200; ) 480;

16. : 
 Y = 5000; : C = 500+0,6(Y–T);

 = 600;  1000; -
: I = 2160 – 10000R. -

:
) 5%; ) 10%; ) 15%.
) 8%; ) 13%;

17.  350; -
 100;  150. 

 10, 
640. :
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) 0,5; ) 0,75; ) 0,9.
) 0,6; ) 0,85;

18.  950
.,  – 1000 ., -

 2, :
) ,  50 .;
) ,  50 .;
) ,  25 .;
) ,  25 .;
) ,  100 .

1. : C = 100 + 0,9 dY ,

dY  - .
1. 

.

 ( .)
-

 ( .) .)
600
800

1000
1200
1400

2.  ( )
 (MPS).

3. .
2. :

 100 .;
, 

,  80 .; 
 0,8; , -

,  10 .
: 1) , 

; 2) -
, , 

 100 .
3. -

 ( .).
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130 150 170 190 210
112 126 140 154 168
230 250 270 290 310
182 196 210 224 238

: 1) , -
 60 ., -

 0; 2) , -
 30 .?

4. :  = 50 + 0,7Yd. 
,

 13%.
5.

-
:

Y 200 350 500 650
C 300 375 450 525

: 1) 
; 2) ?

6. :
I = 1000 – 5000r. :  = 100 + 0,7Y.

 (r)  10%.
: 1) ; 2) 

; 3) 
 4%.

7.  20% -
 = 200. -

 – .
 I = 200. -

 G = 800. 
.

: 1)  ( ) -
 Y = 3000; 2)  (t), -

 (  Y = 3000) 
; 3) 

 = 50 + tY; 4)  ( -
)  = 50 + tY

.
8. : S = –10 + 25Y; I = 30.

: 1) 
; 2) 
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, , ,

 10; 3) ,  2), , -
,  20.

 1

1. :  = 40 + 0,85Y. 
, 

300?
2. : Y=C+I+G+Xn;

C = 380 + 0,75Yd; I = 250 + 0,3Y; Xn = 90 – 0,1Y; G = 80; t = 0,2.
: 1) ; 2) 

.
3.

 50, 
: S = –100 + 0,2Y. -

 1000.
-
-

, : 1) 
, -

; 2) -
 0,2?

?
4. -

:  (MPS) – 0,2, -
 ( ) – 50;  (I ) – 200,

 (G) – 150,  (Ex) – 140, 
 ( ) – 100,  (Im) – 20, -

 (t) – 0,3, 
(MPI) – 0,2;  (MPIm) – 0,16.

, -
, , 

. 
 0.

 2
1. : C = 50 + 0,8Yd. -

: I = 30. -
: G = 10.
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: 1)  Y; 2) -
, 

: G = 20; 3) ?
2. : Y=C+I+G+Xn;

C = 450 + 0,8Yd; I = 150 + 0,25Y; Xn = 100 – 0,1Y; G = 300; t = 0,25.
: 1) ; 2) 

.
3. : -

 Y  Y*  100; C =
80 + 0,8Yd; I = 40 + 0,1Y; G=T; t = 0,25.

: 1)  Y* ; 2) 
,  G=T 

Y=Y*? 3) , 
Y=Y*? 4)  t, 

-
?
4. -

:  – 0,8; 
 – 100;  – 50; -

 – 300;  – 400;  – 200; -
 – 50;  – 0,2; 

 – 0,1; -
 – 0,24.

, ,
, -

.
 3

1. : I =
40+0,4Y,  – : S = –20 + 0,6Y.

 ( -
 « »  « »).

2. : Y=C+I+G+Xn;
C = 350 + 0,8Yd; I = 200 + 0,25Y; Xn = 200 – 0,06Y; G = 200; t = 0,3.

: 1) ; 2) 
.

3.
C=20+0,6Yd, -

 30. , -
 5? -

?
4. -

:  – 200;
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 – 100,  – 50;
 – 250;  – 300; -

 – 50;  –
0,8;  – 0,2; 

 – 0,02;  – 0,06.
: 1) ; 2) ; 3)

; 4) -
, 

 50.
 4

1.  C= 40 – 0,75Yd.
, 

 20%  300.
2.  C = 0,6Yd; I = 120; G = 100; t = 0,25 

, 
 1,25 .

, -
-

?
3. -

:  – 180; -
 – 150;  – 20;  – 130; -

 – 220;  – 40;
 – 0,75; -

 – 0,2;  – 0,02;
 – 0,07.

: 1) ; 2) ; 3)
; 4) -

, 
 72?

4. : Y=C+I+G+Xn;
C = 20 – 0,8Yd; I = 150 + 0,2Y; Xn = 150 – 0,1Y; G = 200; t = 0,2.

: 1) ; 2) 
.
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 5. 

 1. :
C = 20 + 0,8(Y – T + F) ( );

I = 70 ( );
T = 60 ( );
F = 15 ( );
G = 45 ( ).

1. .
2.  40 -

:
- ?
- ?
- ?
- ?
3.  40  50 (

 G = 30):
- ?
- ?
- ?
- ?
4. -

 30  40  40  50:
- ?
- ?
- ?
- ?

1. 
 C, I, T, F, G 

 Y:

Y = 20 + 0,8(Y – 40 + 10) + 60 + 30.

:
Y = 430 –  ( ).

2.  10 (  30  40) 
 10.
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:

.50
8,01

110
1

1
b

GY

 480.
:

.5
8,01

1

-
:

G + F = T;
30+10 = 40.

-
 10,  10,

.
3.  10 (  40  50) -

 – T×MPC = –10×0,8
= –8 ( . ):

.40
8,01

8,010
1 b

bTY

, -
 390.
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.4
8,01

8,0

-
 10, -

 40, -
 50.

4.  30  40 
 40  50 

 2, -
,  ( .

).

, -

 10  440. 
:

Y = 20 + 0,8(Y – 50 + 10) + 60 + 40;
Y = 440.

-
, :

.1
8,01

8,0
8,01

1
11

1
b

b
b

, 
, :

G + F = T;
40+10 = 50.

 2. , 
500,  = 0,4Y, 
F=0,2Y,  = 1.  D = 1000 

 R = 0,1.  2000, 
 2500:
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1) -
;

2) ;
3) ?

1. -
:

 =  (G) +  (F) +
 (D×R) = 500 +

0,2 × 2000 + 0,1 × 1000 = 1000.
= 

) = 0,4 × 2000 = 800.
 = 1000 – 800 = 200.

2. -
-

:
 = 500 + 0,2 × 2500 + 0,1 × 1000 – 0,4

× 2500 = 100.
3.  = -
 –  = 200 – 100 = 100.

 3. , -

. , 
-

:
) ; ) .

, . ). 
,   t  –

, T – , G
– .

-
, .
 Y -

t×Y . -
,
-

 G .
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1. :
) ;
) ;
) ;
) -

;
) .

2. -
, :

) ;
) ;
) ;
) ;
) .

3.  2500 ., -
 – 2600 . -

 – 0,75, :
)  25 .;
)  100 .;
)  25 .;
)  75 .;
)  100 .

4. , -
, 

, :
) ;
) ;
) , ;
) ;
) .

5. 
,  3000 ., -

 20 ., , 

 0,8, :
)  25 .;
)  25 .;
)  20 .;
)  20 .;
)  100 .
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6.  1750 ., -
 1500 ., 

-
,  0,25, -

:
)  250 .;
)  250 .;
)  62,5 .;
)  62,5 .;
)  100 .

7.  250 .
 50 ., -

:
) 0,8; ) 0,4; ) 0,2.
) 0,5; ) 0,25;

8.  50 . 
 150 ., -

:
) 3; ) 0,25; ) –0,5.
) –3; ) 0,5;

9.  100
.,  –  50 ., 

 0,75, -
:
) 50 .; ) 250 .;
) 75 .; ) 750 .
) 150 .;

10. 
 10 ., ,

:
)  10 .;
)  10 .;
)  10 .;
)  10 .;
)  10 .

11.  10 . -
 15 ., 

:
) 0,1; ) 0,2; ) 0,4.
) 0,15; ) 0,25;

12.  0,75 
 250 

., :
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)  1000 .;
)  750 .;
)  250 .;
)  1000 .;
)  750 .

13. , -

0,75. , -
 21 . -

. , -
, :

)  28 .;
)  21 .;
)  21 .;
)  28 .;
)  21 .

14. :
)  MPC=0,8,  5;
)  MPS=0,25,  –3;
)  MPC=0,6, 

 1;
)  MPS=0,4,  2,5;
) .

15. ,
 3200 .,  20

.,  0,5, 
, :

) 3000 .; ) 3300 .;
) 3020 .; ) 3350 .
) 3220 .;

16. , -
 0,25  20%- -

. 
:

 10 .; 
 15 .;  10 .:

) -
 25 .;  28,125 . -

 18,75 . – -
;

) -
 28,125 .;  25 . -
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 18,75 . -
;

) -
 18,75 .; 

 25 .; -
 28,125 .;

) -
 25 .;  18,75 . -

 28,125 . – -
.

1. :
 (Y) = 4000 .

 (MPC) = 0,8.
 (Y*) = 4200 .

1.  (
) , -

 (Y* = 4200 .)?
2. 

) , 
?

2. :
,

. 900 1000 1100 1200 1300 1400
-

, . 750 800 850 900 950 1000

, -
 200 ., 

 100 .:
1.  ( -

).
2. , 

 1400 . 
-

: ?
3. -

?
4. 

 1 .?
5. -

 1 .?
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6. ,
 10% . , 

 200 ., -
 100 

.  (C+I+G+Xn) -
 45 . -

.
7. , 

, :
) ; ) .

3. :
C = 1000+0,9Yd;
G = 600; I = 390;
T = 400;
Yd = Y–T;
Ex – Im  = 0,

 C – ;
G – ;
I – ;
Y – ;
Ex – ;
Im – .

1. .
2. .
3. 

 1 .?
4. .
5. , 

 15000 .
6. .
7. -

, 
?

4. , MPC = 0,8.
1. , 

 20 . 
, 

?
2. , 

, 
 20 . 

 20 . 
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, 
?

3. , -
,  200

.  8
. -

, -
,  200

.?
5.  2000 .

, -
 50 . 

 20 . 
,  0,75.

6.  2009 . -
 80 ., 

20 ., ,
 2500 .  2008 . 

, 
0,4.

7.
.  75  90 

. , 
, , 
 0,25.

8.
 7%,  – 9%. 

3000 .,  – 2,5. 

), , 
 0,9.

9.
 5,5%,  – 7%. 

2000 .,  – 4%. -
 (

), , 
 0,8.

10.  2688 
.,  – 3000 . 

 12%. 
, 

 2/3 -
 1/3 – . -
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, 
,  0,8.

 1
1. :

Y 1000 1100 1200 1300 1400 1500
C 800 880 960 1040 1120 1200

,  I = 200; G + Xn = 80.
1.  ( -

).
2. , 

 1500. -
: -

?
3. -

 2  3?
2.  2009 . -

 80 .,  40
., , -

 2000 .  2008 . -
,  0,2.

3.
6,5%,  – 10%.  4000

.,  – 2,7. 
 ( -

), , 
 0,75.

4.  2640 
.,  – 2280 . -

 10%. -
, -

 3/4 
 1/4 – 

. -
, , -

 0,6.
5. , -

0,75. , -
 18 . -
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. , -
, :

)  18 .;
)  24 .;
)  18 .;
)  24 .;
)  18 .;
)  24 .

6.  2500 ., -
 2600 ., 
,  0,8, :

)  20 .;
)  25 .;
)  20 .;
)  25 .;
)  20 .;
)  25 .

 2
1. -

: C = 200 + 0,8Yd; I = 160; G = 500; T = 500; Yd = Y – T; Xn = 0.
1. .
2. 

 10.
3.  ( ) , 

 2500.
4. -

, 
?

2.  1700 .
, -

 50 . 
 40 . 

,  0,6.
3.

 6%,  – 6,5%. 
1800 .,  – 5%. -

 (
), , 

 0,85.
4.  2700 

.,  – 3100 . 
 8%. 
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, 
 2/3 -

 1/3 – . -
, 

,  0,8.
5.  1800 ., -

 2000 ., 
-

,  0,6, -
 ( .):

)  80; )  120;
)  80; )  500;
)  120; )  500.

6.  – 2500 ., -
 – 2600 . 

 – 0,75, :
)  25 .;
)  100 .;
)  25 .;
)  75 .;
)  100 .

 6. 

 1. , -
-

) -
. ,

:
) -

, ;
) -

, .

.
.

, 
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. -
. -

, , .
, , -

, , -
, , 

, ,
, ). -

, , , 
, 

. , 
, -

, -
.

, -
  : 

. 
, -

. , 

, 
.

 « ».
 2. cr  ,

,
MS?

:

MBm
crrr

crMBM S 1
.

, cr  
m. -

 – rr, 
:

crrr
rr

crrr
rrcrrr

crrr
rrrrcrm 11)1()(1

.

,  cr -
, , -

.



83

1. :
) ;
) ;
) ;
) .

2. :
) ;
) ;
) ;
) .

3. 1 :
) ; ) ;
) ; ) .

4.  5 , -
:

)  5 
;

)  25% -
;

)  5 -
;

)  20% 
.

5. :
) ;
) 

;
) 

;
) 1.

6. , 
:

) ;
) ;
) ;
) .

7. -
:

) ;
) ;
) ;
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) , .
8. :
) ;
) , 

, , 
;

) , 
 ( ) 

;
) .

9. :
) 

;
) ;
) ;
) .

10. 
:

) ;
) ;
) ;
) .

11.  1,2 , 
 8%, 

:
)  10%; ) ;
)  10%; )  11%.

12. :
) ;
) ;
) ;
) .

13. , :
) ;
)  «  – »;
) ;
) .

14.  5%,
 4%, -

, , 
:

)  9%; )  1%;
)  9%; )  1%.
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15. :

,83,0 RY
P
M

D

 R – ; Y – .
 200000, 

:
)  60000; )  1600000;
)  200000; )  60000.

16. , -
. 

:
) ;
) ;
) , ;
) .

17.  10% -
.  0,15. 

 330 ., 
:
)  330 .;
)  75 .;
)  75 .;
)  49,5 .

18. 2:
) ;
) ;
) ;
) .

19. 
5%  (  – -

)  0,5  0,4, -
:

)  1,625  1,33;
)  2,17  1,71;
)  3,375  3,11;
)  4,5  4,0.

20.  25%, 
 – 15%,  200 .

. :
) 300 . .; ) 625 . .;
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) 500 . .; ) 800 . .

1.  200 . 
 20%. -

?
2.  0,15.

.  40% 
.  60 . 

?
3.  3%, -

 5%,  6%, 
?

4.  950 . ., -
 220 . ., 

 20%. ?
5.  15%. -

 5 
.  300

. .
6.  200 ., -

 10%, -
 0,3. .

7.  400 
.,  340 . -

 12 . -
?

8.  2000 ., -
 – 100 . -

 300 . -
: 1) -

; 2) , 
 –  1,5 .

9.  588, 
 2,  – 5 , 

)D = 120 – 1500r.

 300.
, 

,  60. 
?
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10.  200 . . -
 0,8. 

 20% . 
: L = 0,4Y – 50i. -

: 1) 
 = 4; 2) -

 800 . .; 3) -
 20%.

11. ,  4000 . . 
 2  2000

. .,  10%. 
 2 , 

 25% , -
 300 

15%. -
, , 

.

 1
1. , , :
1) 1,
2) 2,
3) 3.

.
1630
645
448
300
170

2. , , 
,  4 -

. -
 2000 .

-
:
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, % , .

16 20
14 40
12 60
10 80
8 100
6 120
4 140

1.  580 . -
.

2. ,
 600 .; 

 540 .
3. , 

,
 80 .; -

 120 .
3.  4000 ., -

 – 100 . -
 120 . -

:
1) ;
2) , -

 –  1,5 .
4.  3%, -

 5%, 
6%, ?

 2
1.

:

85,2
4,4
6,6
5,8
4,0
2,7

11,2
47,5
2,3
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64,4
7,6
3,8

 ( -
, , , .)

0,7

0, 1, 2, 3  L.
2. , , 
,  4 -

. -
 4400 .  ( -

) :

, % ,
.

, % ,
.

16 500 11 1000
15 600 10 1100
14 700 9 1200
13 800 8 1300
12 900 7 1400

 2200 .:
1. .
2. ,

 2400 .; 
 2000 .

3. , 
,

 800 .; -
 400 .

3.  540 ., -
 2,  – 4 

, -
: )D = 100 – 2000r.

 3200 .
, 

,  80
. -

?



90

4.  4%, -
 3%, 

5%, ?

 7. .

 1. -

 – ? ,
?

, 
, . ,

, 

:
D

Rrr , R  – .

, , -

,  cr :
D

cr . -

,
cr rr,

. -
, ,

.
 2. -

220 . 950 . -
20%.

,
?

20% -
Rr

Rr = 950 × 0,2 = 190 .).
, :
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Re = 220 – 190 = 30 .).
, -

:

150
2,0

130 .).

rr
1

,

 – .
-

, .
 3. 20%. -

5%
. 10000. -

?

:
Rr = 10000 × 0,2 = 2000.

:
Re =10000 × 0,05 = 500.

: 2000 + 500 = 2500, 
R = 10000(0,2 + 0,05) = 2500.

,  2500 
, 

L:
L = 10000 – 2500 = 7500.

 4. -
 100 -

, 
, , 

 0,1 (10%).

, -
 100 

, -
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. 
:

.1000
,10
11001100

1. :
) ;
) ;
) ;
) .

2. 
:
) ;
) ;
) ;
) ?

3. 
, :

) ;
) ;
) ;
) .

4. -
, :

) ;
) 

;
) ;
) -

.
5. , ,

:
) ;
) ;
) ;
) .

6.  – :
) , -

;
) , ;
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) , -
;
) .

7. :
) ;
) ;
) ;
) .

8. :
) 

;
) 

;
) 

;
) 

.
9.  – :
) -

;
) -

;
) -

;
) -

.
10. 

, 
, :

) -
;

) -
;

) 
;

) 
.

11.  40 
. ,  20 .

 1 , -
-

 30 . 
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 2,5. ? (
,   ):

)  60 .;
)  150 .;
)  75 .;
)  150 .?

12. 
, :

) -
;

) ;
) ;
) .

13.  40 .
 10%, -

 0,35. :
) 400 .; ) 260 .;
) 540 .; ) 640 .?

14.  0,25. -
  

 440 . :
)  1760 .;
)  110 .;
)  110 .;
)  440 .

15.  5%. 
 20 . 

. 
.

, -
,  3% , , -

, 
:

)  400 .;
)  97 .;
)  100 .;
)  91 .

16. cr  10%, -
D  100 ., 

:
) 10 .;
) 90 .;
) 110 .;
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) .
17.  12%, 

 3%   . -
 45 .,  150

., :
) 300 .; ) 363,75 .;
) 375 .; ) 225 .

18.  4. -
,  « » -

,  40 . -
, ,

:
) 40%  4 .; ) 25%  2,5 .;
) 40%  10 .; ) 25%  10 .

19. -
 200 . ,

 20% :
) 

 50 .;
) 

 50 .;
) 

 40 .;
) 

 40 .;
) 

 100 ..
20.  60 

., 
 3, 

:
) 20 .; ) 120 .;
) 60 .; ) 180 .

21. 
200 .,  36 ., 

 – 12,5%, , -
-

, :
) 11  88 .; ) 25  36 .;
) 12,5  25 .; ) 3,6  164 .

22. -
 100 . , 

 20% :
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) -
 20 .;

) -
 20 .;

) -
 25 .;

) -
 25 .;

) -
 50 .

1.  3000 
.  – 600 . 

 5 
, -

, -
? 

?
2.  500 . . 

 50 . . -
-

,  20 . . 
?

3.
60 . .  20%. -

. 
?

4.  350 . . 
 – 70 . .  – 30

. . ? -
? , 

?
5.  5. -

, -
,  40 . -

, . -
, 

 5 ?
6.  12%. -

 – 20 . . 
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 16,8 . . 
?

7.  200 . . 
 – 100 . . 

 20%. ? -
? 

?
8.  40 .

.  12,5%, 
 5% . -

.
9.   -

,  10%, -
 10 . -

 4 . 
8%. -

?
10. -

 200 . 
 1/5 . ,

, 
 20%,  0,2.

11.  0,1. -
 0,15. 

-
 220 . 

?
12.

 20
., -

 12,5%.
13. -

 150000 . 
. -

 15%, -
?

14.  15 . -
. 

. -
, ,  2% , -

, 
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, 
 7%.

 1
1.  60 

. ,  30 .
 1 , -

 45 
.  4. 
? ( , 

).
2.  400 . 

 40 . -
-

,  15 .
3.  300 . 

 – 75 .,  – 30
. ? -

? , 
?

4.  120 . -
. 

. -
, ,  5% , -

, 
,  8%.

 2
1.  0,2. -

 400 ., 
 ¼ ,  ¾

. 
, 

?
2.  50 . 

 40 . -
-

,  10 .
3.  60 .

 300 . -
 20%. -
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 4 , -
?

4. , -
,  12%, 

   150 . 

 25%  200 . , 

?
 3

1.  0,12. -
 20000. 

 16500. -
?

2.  400 . 
 – 80 .  – 30 

. ? 
? , -

?
3.  100 . 

 – 30 . 
12%. ? -

? -
?

4.  27 . -
. 

. -
, ,  2% , -

, 
,  7%.

 8. 
.  IS–LM

 1. :
C = 300 + 0,8Yd;
I = 200 – 1500R;
Xn = 100 – 0,04Y – 500R;
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Md = (0,5Y – 2000R)P.
, :

G = 200 ( );
t = 0,2 ( );
Ms = 550 ( );
P = 1 ( ).
1. -

;
2. .

1. -
 IS  LM.

 IS -
, -

-
 Y:

Y = 300 + 0,8(1 – 0,2)Y + 200 – 1500R + 100 – 0,04Y – 500R + 200.
:

Y = 2000 – 5000R  IS.
 LM 

, 
:

.20005,0
1

55020005,0 RYRYM

:
Y = 1100 + 4000R  LM.

 Y  IS  LM
2000 – 5000R = 1100 + 4000R.

 R:
900 = 9000R;

R = 0,1  10% -
.

,
,  LM  Y:

Y = 1100 + 4000×0,1 = 1100 + 400 = 1500.
:  10%, -

 1500.
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2.  AD -
 LM, -

:

.20005,0 RYM

 Y:

 Y -
, , -

, -
 G:

Y = 300 + 0,8(1 – 0,2)Y + 200 – 1500R + 100 – 0,04Y – 500R + G.
:

Y = 600 + 0,6Y – 2000R + G.

2000R:
2000R = 600 – 0,4Y + G.
,  4000R : 4000R = 1200 – 0,8Y +

2G.  4000R  LM, -
 Y:

GYRY 28,01200240002
.

D:

.11,111,17,666 GY

 2. , ,
-

.  IS-LM, , 
, 

?

,  IS -
 IS .

.40002 RMY
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. -
-

, -
 LM  LM . -

 Y1Y2.
 3. -

- , 
, :

) , -
 – ,  LM – ;

) , -
 – ,  LM – ;

) , -
,  LM – ;

) , -
 LM – ,  – .

  -
, -

. 
 AD–AS, -

 IS–LM.
-

. -
,  AD . -

 Y1  Y2. 
-

 E .  IS-LM 
 LM  LM .
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 Y1  Y2
. , 

 « ».
. -
 AS, ,

, . -
, . 

 AD-AS , 
 AS. 

.

1. , -
, :

) ;
) ;
) , -

;
) , -

;
) 

.
2. :
)  LM 

;
)  LM 

;
)  LM 

;
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)  LM -
;

) .
3.  IS  LM:
) 

;
) ;
) -

;
) .

4. -
, , :

) ;
) ;
) ;
) ;
) 

.
5.  IS , :
) -

;
) -

;
) 

;
) ;
)  « »  « »  IS .

6.  0,75, 
 100:

)  IS  100;
)  LM  300;
)  IS  300;
)  LM  IS  300;
)  IS  400.

7.  IS – LM -
:

) ;
) ;
) ;
) ;
) , .
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8.  -
, , 

, :
) ;
) ;
) ;
) ;
) ;
) .

9. :
C = 400 + 0,9Yd ( );
I = 300 – 2000R ( );
Xn = 100 – 0,05Y – 1000R ( );
Md = (0,4Y – 100R)P ( );
G = 100 ( );
t = 0,5 ( );
Ms = 180 ( );
P = 1 ( ).

-
:

) 500  20%; ) 600  20%;
) 600  15%; ) .
) 550  15%;

10.  10 -
 IS:

)  10;
)  10;

) ,
1

110
b

 b – -

;

) 
b1

110 ;

) 
b1

110 .

11.  LM
1
k

, :
)  LM  IS ;
)  LM ,  IS;
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)  LM ,  IS 
;

)  LM ,  IS -
.

12. 
, :

) , 
LM ;

) , -
 LM ;

) ,  IS ;
) -

.
13. , 

, :
) ,

    ;
) , -

;
) , -

;
) 

, 
.

14. , :
) 

, -
;
) -

;
) -

, -
;

) -
.

15. :
Y = C + I + G + Xn;
C = 100 + 0,9Yd;
I = 200 – 500R;
Xn = 100 – 0,12Y – 500R;
M = (0,8Y – 2000R)P;
G = 200;
t = 0,2;
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Ms = 800;
P = 1.

 IS :
) Y = 1600 – 2700R; ) Y = 1500 – 2600R;
) Y = 1500 – 2500R; ) Y = 1600 – 2600R.

16.  15, , 
 LM :

) Y = 1000 + 2700R; ) Y = 1000 + 2500R;
) Y = 900 + 2600R; ) Y = 900+ 2600R.

17.  15, 16, , 
-

:
) 15%  1300; ) 8%  900;
) 12%  1200; ) 10%  1250.

18.  15–17, -
, :

) C = 1000; I = 100; Xn = 100;  ) C = 1000; I = 150; Xn = –100;
) C = 1000; I = 150; Xn = –50;  ) C = 1000; I = 100; Xn = –100.

19.  15, , 
:

) ;
P
M0,6251,25G500Y

) ;
P
M0,7251,3G500Y

) ;
P
M0,6251,2G500Y

) .
P
M0,7251,25G500Y

20.  15–19, 
, -
 100:

) 100; ) 125; ) 110; ) 95.

1. :
C = 300 + 0,8Yd ( );
I = 200 – 1500R ( );
Xn = 100 – 0,04Y – 500R ( );
Md = (0,5Y – 2000R)P ( );
G = 200 ( );
t = 0,2 ( );
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Ms = 550 ( );
P = 1 ( ).
1.  IS   LM?
2. ?
3. ?
2. :
Y = C + I + G + Xn ( );
C = 400 + 0,9Yd ( );
I = 200 – 1800R ( );
Xn = 200 – 0,1Y – 200R ( );
Md = (0,8Y – 300R)P ( );
G = 200 ( );
t = 0,3333 ( );
Ms = 1104 ( );
P = 1 ( ).
1. -
.
2. .
3. :
Y = 1700 – 100R (  IS);
Y = 500 + 100R (  LM);
P = 2 ( ).
1. 

 50,  IS? 
 IS?

2. , , -
 200 ( ), -

 LM?  LM?
3. , -

 2  4. 
 LM? 

 LM?
4.  80% -

, 
 – . -

 I = 200 – 60R. 
 L = 30 + 0,7Y – 30R. 

 Ms = 160. -
: G=T=40. -

.
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 1
1. 
1. :
Y = C + I + G + Xn;
C = 120 + 0,9Yd;
I = 240 – 600R;
Xn = 120 – 0,12Y – 600R;
Md = (0,8Y – 2400R)P;
G = 240;
t = 0,2;
Ms = 960;
P = 1.

 IS :
) Y = 1500 – 2500R; ) Y = 2400 – 4000R;
) Y = 1800 – 3000R; ) Y = 2700 – 4500R.
) Y = 2100 – 3500R;

2.  1, , -
 LM :

) Y = 1050 + 3000R; ) Y = 1440+ 4000R;
) Y = 1050 + 3500R; ) Y = 1440+ 4500R.
) Y = 1200 + 3000R;

3.  1–2, , -
:

) 10%  1500; ) 15%  1575;
) 12%  1920; ) 20%  1790.
) 14%  2070;

4.  1–3, -
, :

) C = 1200; I = 180; Xn = –120;
) C = 1274; I = 175; Xn = –151;
) C = 1542,4; I = 224; Xn = –166,4;
) C = 1670,4; I = 234; Xn = –194,4;
) C = 1724,5; I = 242; Xn = –208,6.

5.  1, , -
:

) ;
P
M25,12,5G500Y

) ;
P
M0,6251,25G600Y



110

) ;
P
M25,12G700Y

) ;
P
M0,6251,25G700Y

) ;
P
M0,6251,25G800Y

) .
P
M0,6251,25G900Y

6.  1–5, -
, -

 48:
) 60; ) 175;
) 80; ) 185.
) 90;

2. :
Y = C + I + G + Xn;
C = 400 + 0,8Yd;
I = 450 – 300R;
Xn = 350 – 0,2Y – 500R;
Md = (0,5Y – 2500R)P;
G = 400;
t = 0,3;
Ms = 550;
P = 1.
1.  IS.
2.  LM.
3. -

.
4. .
5. , -

 160.
3.  (  = 4) -

-
 100 -

, -
 20. -

 0,5, -
 180,  40.
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 320. -
: LT =  0,2Y,  

: LS = 120 – 40R.
1)  IS.
2)  LM.
3) 

.
4. -

:
: C = 170 + 0,6(Y – T). :  = 200.

: I = 100 – 40R. :
G=350. : L = 0,8Y – 40R.

: Ms = 680. :  = 2.
1. : 

.
2. , 

.
 2

1. 
1. :
Y = C + I + G + Xn;
C = 140 + 0,9Yd;
I = 280 – 700R;
Xn = 140 – 0,12Y – 700R;
Md = (0,8Y – 2800R)P;
G = 280;
t = 0,2;
Ms = 840;
P = 1.

 IS :
) Y = 1500 – 2500R; ) Y = 2400 – 4000R;
) Y = 1800 – 3000R; ) Y = 2700 – 4500R.
) Y = 2100 – 3500R;

2.  1, , -
 LM :

) Y = 1050 + 3000R; ) Y = 1440+ 4000R;
) Y = 1050 + 3500R; ) Y = 1440+ 4500R.
) Y = 1200 + 3000R;

3.  1, 2, , -
:

) 10%  1500; ) 15%  1575;
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) 12%  1920; ) 20%  1790.
) 14%  2070;

4.  1–3, -
, :

) C = 1200; I = 180; Xn = –120;
) C = 1274; I = 175; Xn = –151;
) C = 1542,4; I = 224; Xn = –166,4;
) C = 1670,4; I = 234; Xn = –194,4;
) C = 1724,5; I = 242; Xn = –208,6.

5.  1, , -
:

) ;
P
M25,12,5G500Y

) ;
P
M0,6251,25G600Y

) ;
P
M25,12G700Y

) ;
P
M0,6251,25G700Y

) ;
P
M0,6251,25G800Y

) .
P
M0,6251,25G900Y

6.  1–5, -
, -

 140:
) 60; ) 175;
) 80; ) 185.
) 90;

2. :
Y = C + I + G + Xn;
C = 40 + 0,9Yd;
I = 30 – 100R;
Xn = 20 – 0,01Y – 40R;
Md = (0,5Y – 350R)P;
G = 10;
t = 0,1;
Ms = 180;
P = 1.
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1.  IS.
2.  LM.
3. -

.
4. .
5. , -

 14.
3. , 

, 
:  = 400 + 0,8Y. -

: I = 200 – 20R. 
:  = 1. :

L = 0,4Y + 400 –40R. :
 = 600 .

1.  IS.
2.  LM.
3. -

-
.

4. , 
: C = 80 + 0,8Y(1 – t); I =100–

10R; L = 0,6Y – 10R. , ,

:  = 2; t = 0,25; G = 60; Ms = 200. -
.

-
-

, 
 0,6?

 3
1. 
1. :
Y = C + I + G + Xn;
C = 160 + 0,9Yd;
I = 320 – 800R;
Xn = 160 – 0,12Y – 800R;
Md = (0,8Y – 3200R)P;
G = 320;
t = 0,2;
Ms = 1152;
P = 1.

 IS :
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) Y = 1500 – 2500R; ) Y = 2400 – 4000R;
) Y = 1800 – 3000R; ) Y = 2700 – 4500R.
) Y = 2100 – 3500R;

2.  1, , -
 LM :

) Y = 1050 + 3000R; ) Y = 1440+ 4000R;
) Y = 1050 + 3500R; ) Y = 1440+ 4500R.
) Y = 1200 + 3000R;

3.  1, 2, , -
:

) 10%  1500; ) 15%  1575;
) 12%  1920; ) 20%  1790.
) 14%  2070;

4.  1–3, -
, :

) C = 1200; I = 180; Xn = –120;
) C = 1274; I = 175; Xn = –151;
) C = 1542,4; I = 224; Xn = –166,4;
) C = 1670,4; I = 234; Xn = –194,4;
) C = 1724,5; I = 242; Xn = –208,6.

5.  1, , -
:

) ;
P
M25,12,5G500Y

) ;
P
M0,6251,25G600Y

) ;
P
M25,12G700Y

) ;
P
M0,6251,25G700Y

) ;
P
M0,6251,25G800Y

) .
P
M0,6251,25G900Y

6.  1–5, -
, -

 64:
) 60; ) 175;
) 80; ) 185.
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) 90;
2. :
Y = C + I + G + Xn;
C = 110 + 0,8Yd;
I = 50 – 300R;
Xn = 80 – 0,2Y – 300R;
Md = (0,5Y – 500R)P;
G = 60;
t = 0,25;
Ms = 100;
P = 1.
1.  IS.
2.  LM.
3. -

.
4. .
5. , -

 60.
3.  20% -

,  –40, -
: I = 140 – 10R, 

 50,  Ms = 100,  1,
: L = 0,2Y – 5R.

: 1) ,
, ; 2) -

, , 
, 

; 3) 
; 4) 

, 
.

4. : C = 210 + 0,8(Y–T);
I = 1000 – 50R; G=100; T=150; Ms=1000; P=2; (M/P)D = 0,5Y–100R.

, 
150. ,

?
 4

1. 
1. :
Y = C + I + G + Xn;
C = 180 + 0,9Yd;
I = 3260 – 900R;
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Xn = 180 – 0,12Y – 900R;
Md = (0,8Y – 3600R)P;
G = 360;
t = 0,2;
Ms = 1152;
P = 1.

 IS :
) Y = 1500 – 2500R; ) Y = 2400 – 4000R;
) Y = 1800 – 3000R; ) Y = 2700 – 4500R.
) Y = 2100 – 3500R;

2.  1, , -
 LM :

) Y = 1050 + 3000R; ) Y = 1440+ 4000R;
) Y = 1050 + 3500R; ) Y = 1440+ 4500R.
) Y = 1200 + 3000R;

3.  1, 2, , -
:

) 10%  1500; ) 15%  1575;
) 12%  1920; ) 20%  1790.
) 14%  2070;

4.  1–3, -
, :

) C = 1200; I = 180; Xn = –120;
) C = 1274; I = 175; Xn = –151;
) C = 1542,4; I = 224; Xn = –166,4;
) C = 1670,4; I = 234; Xn = –194,4;
) C = 1724,5; I = 242; Xn = –208,6.

5.  1, , -
:

) ;
P
M25,12,5G500Y

) ;
P
M0,6251,25G600Y

) ;
P
M25,12G700Y

) ;
P
M0,6251,25G700Y

) ;
P
M0,6251,25G800Y
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) .
P
M0,6251,25G900Y

6.  1–5, -
, -

 72:
) 60; ) 175;
) 80; ) 185.
) 90;

2. :
Y = C + I + G + Xn;
C = 100 + 0,7Yd;
I = 70 – 500R;
Xn = 30 – 0,06Y – 500R;
Md = (0,4Y – 800R)P;
G = 50;
t = 0,2;
Ms = 120;
P = 1.
1.  IS.
2.  LM.
3. -

.
4. .
5. , -

 80.
3. :
Y = C + Y; C = 100 + 0,8Y; I = 150 – 6R; Ms=150; L = 0,2Y–4R;

P=1.
:

1.  IS–LM.
2. 

IS–LM, 
.

3. 
, -

.
4. :
C = 100 + 0,625(Y–T); I = 100 – 4R; G=50; T=0,6Y; (M/P)S=200;

(M/P)D = 0,75Y–4R.
, 

50 . -
?
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